BT8R Ao, XOGE?

iE HLIERT—ZADBHRERETE, EEHETHEITH=0
BAT309

Par Ho. T, ToMVENTES, BLEFE>Eo1

iE W, BiETI<KMLESIEMSHATEENT NS LW,

Par EOED, HARKCODOTHELTRLFEN 2 ?

1E TEREIZ L. BBARBREOMEBLIZIT< o TWIDTHEE D
EEDTNTETE,

Yar WEBTHDONN P

iE NROES Tk, HMOAPKREINRATESTD, TEFZHM

ULIMBENTRWRASBIPLERDEL LD K] BATE>THED
ERITIR > THENTEL,
ar ~NZ ANBRDTFIZE S Rnb AR,

Iy
4

na H., BEE. bxoL. THA.

On the phone

iE BB & - EBYICT > TEIH,

iE AFBEIZIZDES>TNEEANETO,
1E EFNTid. LU ET.

Afterwards

Tar GODBFHEOEBDZITEZ T ER.

1E Ao, XX

ar EH, TOEORWTHIATIELWALEITE,
S i h TR,
Tar MRHIEMITITEELRE] > TE-HHIERAZ®?
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E ZFHEWREBRARWTE, {fFoTWw3d] ORDIT Ifrofz] T
B82&. DERABLAERUANRLT, Bro&ktlichdhEndih.,
BEEZDIVIBRLCICRZIDONILSGABWALITE,

1 RXT»3
The basic meaning of the verb 3 % % is in fact ‘learn’ or ‘memorise’.

ZOBRDEFIIH LI-ETIEHBEITTEN,

Please learn the kanji in this lesson by tomorrow.

BEh, BRALEAELEDN,
Has everyone learned them?

AR BAELE,

Yes, we've learned them.
FERATWE R A,

No, I haven’t learned them yet.
BREARISNERA,

I can’t seem to remember them at all.
G BATWBEZATY,

I'm just learning them now.

There is a secondary meaning to this verb, however, which is much more passive,
namely ‘remember’, and in this sense it is only found in its ~T\¥% form:

$& 2 T\ %, which should be understood as ‘have in memory’. This is how it is
being used here. But it is easy to make the mistake of thinking that the English

‘remember’ can always be translated in this way. Observe the following:

BDANDHRIRATS ?

Do you remember that person’s name?
Yy P
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(@) W, BAThWwid.
No, I don’t remember his name.
by W, BnhlHEanwad,

No, I can’t remember his name.

(a) is a statement of a passive inability: the name is not in memory, but (b)isa
statement of active inability: you cannot recall or bring out something that you think
is in your memory. % A % is matter of putting something into memory; B\ 1T is
a matter of bring it out of memory. Hence the sentence Z DEFIXED I HA DI
BB 1learned that kanji yesterday but I can’t remember it now’. And to
translate ‘I've just remembered that it's mother’s birthday today’ you have to use

BAH: SHRBORERERZENWS ZE2SBNHLE.

I was just remembering what we used to do at Christmas when I was a child.
FHOE7 Y AT AIZB[MZE LhZ2BNnE L TED,

I remember very well what we used to do at Christmas when I was a child.
THOEZ ) AT AR ME LEMILSEITNS,

When ‘remember’ means ‘don’t forget’, you must use yet another turn of phrase:

Please remember to return the key at the reception when you leave.

HEOE, EhTIREZMIBREL TN,

2 ToMDBENTE

Note that you cannot say 55217 here. Why not? Because 5417z refers to a point in
the past that is gone and cannot be recovered. There is a sense of finality. But in this
case, John still has the opportunity to do something for Marie’s birthday and so uses
BN Tz, Let us assume that you have been asked to buy some apples and have
forgotten. What would you say? If you said % -, 217 then it would be clearly
too late and you would have no intention of going out to buy them. If you said
o, BN T/, this would mean that you were prepared to rectify the situation

immediately.
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TWERRA, BNTELE, BENSBEFNHDELE,
Oh I'm sorry. I forgot. Your wife called.

~T W= is used here because the person speaking has in fact just rectified the
situation by telling you. In this context it would be ungrammatical to use ‘517z.

If, however, the man went home and then told his wife that he had forgotten to tell
his boss that the wife had rang, he would then probably say . &% % D&/,
E3 L &S, Note that the form is mdL T 7z, not SN TV 5. When the verb mh
% refers to the speaker forgetting something, it cannot be used in the ~TV\¥% form,
just as in English you cannot say ‘I am forgetting’ about oneself. However x41T

V3% can be used if the reference is to a third party.

BLARYEBRIZ > TEREZHTOBENRTVS,

She’s got totally involved in the conversation and is forgetting to serve the
tea.

BLPNDEZBFCRS>TEEREZHTOBENR TV,

I've got totally involved in the conversation and have forgotten to serve the
tea [but I'll do it now].

3 ARFBEEICIRB Lo TNBE EBNET
This is the assumption of a future state. Note that the form used is not just a simple

~ % form but ~T¥1%. Study the following sentences:

TOHRETIZLAHRHIS EBVET,

I think everyone will assemble by that time.
TOHTLES2BHi>TWBEBNET,

If it’s around that time then I'm sure everyone will be assembled.

S SFTIEMEREICIRARICE N TNE EBENETOT, FOEBER
T&W,
ANEBEITBEFITR D ENRDFLL A TWBIRTTTOT. t—%—
<HBVRERBHEBL TN,
REDGEHITRIUIHM BNV EE L THSEREEN D © T3 1.
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4 gicanrnidh

This has been translated as ‘If I can answer you’. Problems often arise as to whether
to translate English ‘know’ with 737* % or with H1%. It is just possible to replace

B 1z 4 M udia with 53 - TR, but the meaning is rather different. The
first means ‘If I can work it out’ or ‘If it is clear to me’; the second means ‘If I know
the answer’. Note that the pattern is 23537 % but 21 %, the distinction being
between clarifying something for oneself and receiving or absorbing information
from outside. ‘Do you know John's address’ would normally be rendered as ¥ 3 >
X ADEFTZEH > TWET A, but observe the following:

ZDOBOERIEFN TEHDHN.
Have we discovered his address?
WWR, EESP>ThWEEA.
No, we don’t know yet.

If you are at the airport waiting for a flight you might ask your friend & 1 > OEI
EDLBWENTSDOMHIS T3 ? ‘Do you know how delayed John's flight is?’,
because your friend would have had to obtain the information. But if you went to
the airline desk to ask them, you would say 00X fElZ & D < S WDBNTHE < hah
0 &9 M, because you are asking not whether they have obtained the information
but whether they have it. To reply to the question: KFZZFE LRI ESITHAT
g ? ‘What are you going to do after graduation?” you would use the verb 73 %:
XH, EESMDERA, or TH, FEESZDEILNDERAN, RITOXIRR
& ZATEMN NI &2 > TE T ‘Well, I'm not too sure butI do know
I'm not going to work in a bank or anything like that.” If, however, the question is:

PREOI) —SANRBREEZRELERIESITHATIN?

What is your friend Marie going to do after graduation?

you would reply with the verb £ %: 2 3. FhIZH D £ 8 A, because it is not
something you can work out for yourself; it is information that has to be given to

you by another. Indeed the initial question might be better phrased: ¥ 1) — & Al
REEFELEZRIZIES THNHA > TETH.
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From this you can see that 1% is a matter of obtaining information from outside

oneself:

RAVFENA S 2N,

I don’t know who the culprit is [because no one has informed me].
BADEHDI BTN,

I don’t know who the culprit is [because I haven’t worked it out yet].

This emerges most clearly with the following, where shifting the verb actually shifts

the meaning in a radical way:

WICETIES 95 K.

If you ask him, you'll find out.
WICEFIEA > T s k.

Why don’t you ask him, because he knows.

WX EZTEDRD DN 5780,

He does not yet know how to appreciate sake.
BILEZBEORZEH 5720,

He's too young to drink.

5 The difference between ~/z and ~ T\ %

Tadashi says [HW#IZfT>TWET ] and John asks what the difference is
between this and the ~7= form. We know from the word ‘shopping’ that his mother
will be back sometime, but ~7= has a strong sense of finality built into it, so to use it
would be to show that one has little interest in helping the caller, who presumably
asked to talk to Mother. {75 TV % J means not so much ‘she’s gone’ as ‘she’s out
shopping [and will be back in due course]’. Study the following examples:

(@) RIIEICTEELE.
(b) RIEEERKIT>THWET,
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(a) might mean that your elder brother has gone to Kydto permanently but (b)

makes it clear that this is not the case so you can safely ask:
TN TVDEBREDIZTRD XTh,

(@ ZEDH NWEIMNHKE,
(b) WEIRETKHS,

(a) does not tell us whether the cousin is still with the speaker or not, but (b) clearly
means ‘my cousin is staying with me’. If you wish to add a time word such as
%M 3, then the particle 7 5 should be added: W& ZRED SN EKTN S,

(@) ZEZiEPD.
() FEIRPHTND,

Both mean that he is not smoking at the moment, but (b) has a strong sense that it

may be only a temporary measure.

(@ BIBELOHELE,
b) BIHELDTVET,

(a) is an absolutely final statement, but (b) suggests that there may be a tiny hope.

I
Jar HEZITNBES, ZDAADAD?
<Y — LERHCLES b, ZONAVICEATAOIANIEEEZ > TEHMH

BEBEEITZARZEALEZNDOL, TORIALSARSH. HOE,
EDLTEARIEHKD, VaIABIZHEKRSD >z,
a2z LT E, bhidh, SEOHDIC Y THEZE> 2D D

T<EWERAEE.
<U— HoEd, BETRENGWELE LB 72b, &ZAT, Yaldh

ITHEZICWBHE] > TE-ob&ia.
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Jar Sk, HIESTS,

< — ZFHL 20T E, BREBETVBED T—BINDICED - 20k L
&S B, HIZEEHLLRVNSE [HD] Z2HEINE
Uiz,

ar ZI3nbhiudE > 72k,

< — HON—I. TE<HD) & [HMhENDD] THFEERVA

Coiznwh L5, T TH5) TL X,

Jar IR, BN [HZTIICNWDH]| > TE -SRI IE1<bD)
S TWIERIIEMNH - 2h.

<) - Fhich, ADFED., TE5NSRFZEZLTVWBEADHS] BRAT,
(5] 2 ZENBNCHBTLE, TOVIKHEL TAL %
MH<bdD) &L TIRESZTRVLALRRRANL S,

Tar FEI7ZMWENE L 2o TE 2D,

<Y — F3%), ThbI<HERZDDLI.

Tar SDES Tz,

< — FH U2 T. (EENTE® OoRVIC TEBENHVET
BATE2TVWAANZNDL,

Jar FIED., THIBEDEFENS DERTI<SERRZ 2R,

< — RA. DORMSHTERLRLSIHIEVRA, DOEDOREE
U7k,

6 W5 and $5

As becomes clear during this conversation, the usual explanation for the difference
between 1% and 3 %, namely that 1Y% is used with animate subjects and % %
with inanimate subjects, does not cover all cases. Here we have the phrase %% Z 1
¥3% H, where you might normally expect & . Study the following examples:

(@ ZH5KEHBEIFTITRTHEOHETY,

All the cars here are second-hand foreign ones.
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(b) ERTEONATTM. . SHOBERORIINEDTT,
You want the bus for Shibuya? It’s the one there, in front of the post

office.

In (a) the cars are just goods to be sold and so & % is used. In (b) unless the bus is
obviously not in service, then the verb must be \3%. V35 is therefore used with
modes of transport. This may strike you as odd. There are two explanations: either
V1% is being used as shorthand for IE % > Tl %, or the use is metaphorical and the
mode of transport is treated as being animate because of the fact it moves and
contains people. Note that a bicycle is too obviously operated by a person and so

does not come under this category.

(@ HBIEEIIVWET,
My younger brother is in the garden
(b) ZRTOHEMRHLET,

I have a brother two years younger than me.

In (a) it is the physical presence of ‘being’ that is the point of the sentence; but (b)

expresses a relationship.

(@) ZDSOBRIIBENNWEDT, BFEZHLDITYH> S DEED
HR/R< TEM - 2,
Yesterday evening I had a visitor with me so I"'m sorry, but when you
rang I couldn’t talk much.

(b) Z2DSDBRFZBNATRNBEND > A THEEIZHRRP - 2,
Yesterday evening an unexpected visitor turned up, so I couldn’t do

any work.

In (a) the point is that the visitor ‘was there’ with the speaker and this affected the
phone call. In (b) the point is not the physical presence of the visitor but simply that

‘I had a visitor’.
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Examples where the verb & % is used with people:

REDHDAE— A>T THEHRIZDEBICENHRZLDES 5D,
FEEVNDNEXZDEIBREMLIZNEEZTT,
RITHEHBBHRE b H D 8 A,

HORBDETOT, RILLET,

AEERRNEBZ25, BEACHL TRERDEHLOBEZ LS
ABBH B,

Examples where the verb ¥ % is used with inanimate subjects:

7

BT IINHRITHE, IS5, FHEBOHITINWEZ L THEHL O,
SR XA,

FAHRE EBICF VR 7 U BRI S RIZnEN, AL
DBRIBHARITTHATEE,

BR5 (8)

There are three rather similar verbs that appear in this conversation: & >, &9,

and & % 5. The first two are intransitive and the last one transitive. &> means

‘be different” but by extension can be found in contexts where the translation

‘wrong’ fits.

INEZTNERBENDLED,
This one and that one are slightly different in colour.

BOMNE->TND,
The spelling is wrong.

& 5 is almost always used in its ~TV)% form as i > T\ 3.

BOEZRHFE> TS,
You're wrong.
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& % 5 is a transitive verb ‘mistake X:

EFtRZRERT,
You've got your sums wrong again.
EAB TN BREAZBEMERT,

Your voices are similar so I mistook Father for you.

8 #Hbol-

The verb #1 5 looks as though it might be the intransitive equivalent of # X %,
‘teach’. You would then expect it to mean ‘be taught’, but this is X 5N 5. DS
means ‘learn from X’ and X must be a person. You cannot use this word if you mean
simply ‘learn’ or ‘teach yourself'. In this sense it is almost the opposite of #3795,

which is an entirely personally driven sort of learning.

9  EMATD
The conversation points up a particular danger when working from English. It is
very tempting to translate ‘I have a headache’ with %3 %, but with feelings and

emotions Japanese normally uses the pattern X 439 %.

HEDAT

Ihave a ringing in my ears.
BENT 2,

I've got palpitations.

Exercises

1 Translate the following sentences.

ValtBIESEBFEEZTE.
TalEBIMES EBEE 2T,
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BREEDEIERANENTSDRA, Eo &,
BRERLEIERADT ODOENT,

BRANERATBNWTINK, KERIERALELNS,
ROBEHETREATBNTINTHOMNED,
BICBNWEEOL SRR B T BT ERZ TRV,

ZARBEVRDH>ERTHEI &,
MNEDHO TRLSHEAE=DEL TR,

ITHITEES Iz, EEOBRIAEFDI b L EHNHT L.
ZDEFHE-> TS b, HMT3FE, REtoTIITAEVND L,

2 Translate the following sentences into Japanese using the verb & 5.

He’s obviously got musical talent.

I've come today because I have a request.

It seems that there was a big accident near Nagoya.

I've got an important exam next week so I intend to use my time revising as much as
possible.

He’s got a ninety-four year old grandmother.

I would have liked to have said something but I didn’t have the courage.

Damn. I've completely forgotten there is a meeting starting at ten.

When I was a student I was confident.

Perhaps something happened. He's been acting strangely of late.
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Word List

DHD tsumeru pack in

Gl nakama mate, friend

XED sasou invite, tempt

JesH sentd head
Adidicksan mikake ni yoranai deceptive

ZUEA ukekotae response

& Z machigae mistake

DEWRRT tsukihanasu dismissive

~DE ~1o sai at the time of ~, when
HLW suzushii cool

| imagoro this time, about now
BRAE kabuka price of shares

[EIE - kaifuku suru recover

A REH: kandsei possibility

BA hannin culprit

~Nh hen area

HE shako garage

Bk r0jo on the road

EET dori de no wonder that
Bhs XIi2) osowaru (X ni) learn from X

EEY ikimono sentient being, living thing
W=y riru rule, regulation

B3 ishiki awareness

ER chokuyaku direct translation
fFHE mochinushi owner

R chitko second hand
BWTan omoigakenai unexpected

mHEE kibosha those who want



HH=R

9

7

BR5
AFEZER
BZ3
BEA
BHT5
DEHLICTS
WER
a>a)y R
it =18
Jxl)—
Mz SR
&0

R

=

HBD
CL i )

moyosu

teki

mikata

jinshu sabetsu
tonaeru
Kankokujin
besshi suru
mukidashi ni suru
kassoro
Konkorudo
funatsukiba
feri
mukogishi
tsuzuri

keisan

koe

miminari

doki ga suru

hold

enemy

ally, friend
racial discrimination
advocate
Korean people
look down on
show openly
runway
Concorde
jetty

ferry

the other side of the river

spelling
calculation
voice
tinnitus

palpitate
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